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D 22+5 @ 9+8
@ 6=+80 ®)36.4+6
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D 2+5=44
®9+8=1.125
®112+4=28

@ 6 +80 = 0.075

® 36.4+6=6.066--
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O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA
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@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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56.4 =8
D 0.75x8 =56.4 @ 75%x8=56.4
® 70.5x8 =56.4 @7.05 x 8 = 56.4

® 0.705 x 8 = 56.4
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56.4 + 8 = 7.05
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(F)x (e 9) = (UHFolAle 4) 4yt
ek 56.4 + 8 = 7.05 2] AL

7.05x 8 = 56.4 Y},
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® 9+12 @ 6+8

@ 30+ 40 ® 48 + 64

B

18+24=3+4=0.75
®9+12=3+4=0.75
@6+8=3+4=0.75
®10+16=5+8=0.625
@30+40=3+4=0.75
®48+64=3+4=0.75
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5 AJATeFo] 54000 kg & oY, B.2] o] AT kg YU

0
75 25
50
@ 9800kg @10800 kg @ 11800 kg
@ 12800kg ® 13800kg

A4 54000kg 9] 20 %O &2
54000 x 0.2 = 10800( kg)
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7cm
- 6cm
: : | \
: | : 9cm
| |___ | //
@ 416 cm? @ 358 cm? 3)318 cm?
@ 296 cm? ® 252 cm?
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A HR) AA=ANAN Al 71 Azt e
Y27V 7T+ 647+ 6 = 26(cm) ©] 2L
(A&HA 9] Bylol)=(Tyle])
=(7Tx6)x24+ (7T+6+746)
=844 234

= 318(cm?)
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_8cm .
\ \
\
8 \
/ cm 1llcm
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) (9)
O 240 cm? @ 300 cm? @ 360 cm?
@ 420 cm? (@)480 cm?

S5 ~
(FlollA & 2eh)=(Z4Hol)

(oA 2 2eF)=(FH)
ZAylo)= (8 x8)x2+

= 128 + 352

= 480( cm?)
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N -
~20cm-

@ 8cm (@)QCm @ 1llem @ 12cm ® 13cm

(F4ol) = (BHlol) - (BHol) x2
= 2100 — (20 x 30) x 2
= 2100 - 1200 = 900( cm?)
(F4ol) = (28] =) x (¥°)
(&°]) = (F4ol) + (™ =2)
= 900 = (20 + 30 + 20 + 30)
=900 + 100 = 9(cm)




